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1. GEOMETRY A right triangle with an area of v — 4 square units has a leg that
measures 2¢ + 4 units. Determine the length of the other leg of the triangle.
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2 GEOMETRY A rectangular pyramid has a base area of - ————}——-—— square centimeters
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and a height of —Q———q—-—; centimeters. Write a rational expression to describe the
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volume of the rectangular pyramid.
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3. GEOMETRY The expressions -, ——. 1(1

triangle. Write a simplified expression for the pm mwtea. of the triangle.
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4. NAVIGATION The'current i a river is 6 miles pér hour In her motorboat Marigsa can
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travel 2 miles upstreamfor I6 miles downstream{in the same amount of time. What is
the speed of her motorboat in still water? 1s this a reasonable answer? Explain.
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5. WORK Adam. Bethany, and Carlos own a painting company. To paint a particular house

alone, Adam estimates that it would take him 4 days, Bethany estimates 55 days, and
Carlos 6 days. If these estimates are accurate, how long should it take the three of them

to paint the house if they work together? Is this a reasonable answer?
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' study Guide and Intervention

Graphing Rational Functions
Domain and Range

Rational Function an equation of the form f(x) = %((—j%, where p(x) and g(x) are polynomial expressions and
g(x) # 0 .
Domain The domain of a rational function is limited to values for which the function is defined.

Vertical Asymptote | An asymptote is a line that the graph of a function approaches. If the simplified form of the
related rational expression is undefined for x = a, then x = ais a vertical asymptote.

Point Discontinuity | Point discontinuity is like a hole in a graph. If the original related expression is undefined
for x = a but the simplified expression is defined for x = a, then there is a hole in the

graph at x = a.
Horizontal Often a horizontal asymptote occurs in the graph of a rational function where a value is
Asymptote excluded from the range.

Determine the equations of any vertical asymptotes and the values
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First factor the numerator and the denominator of the rational expression.
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of x for any holes in the graph of f(x) =
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The function is undefined for x = 1 and x = —1.
Since (éj; 1?)))(S?j11)) = tx_— 13 _x = 1is a vertical asymptote. The simplified expression is
defined for x = —1, so this value represents a hole in the graph. o
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Determine the equations of any vertical asymptotes and the values of x for any 3
holes in the graph of each rational function. %
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